Maths - Monday IXL Section for Monday
Subtracting money and Tuesday

Group A pP8—PI7

Subtract these amounts o money mentally:

£100 - £57 - £200 - £I2k =
£136 - £80 - £150 - £63 -
£200 - £I183 - £100 - £68 -

Use column subtraction to subtract these amounts of money;

thhH/ - £136 -
5/ - £193 -
t6/3 - £387 =
£382 - £I135 -



Use subtraction to find the missing amounts of money,

a £245 + =£315 b £471+ = £561 c £326+ = £726

d + £50 = £621 e + £80 = £703 f + £90 = £754

Challenge—subtract these amounts of money

£p £p £ p £p
3.51 /.60 8.42 4.95
2,36 529 =2.83 21



Word, problems
Don't forget to Read everything carefully, Understand what to do, pick a Calculation, Solve,

write the Answer and Check Yyour answer:

Oscar, Mina and Louis

are buying items for their
classroom and playground.
Oscar has £100, Mina has
£200 and Louis has £500.

Work out these money
problems. Show your e
working out.

1 Mina buys a bench. How much money will she have left?
2 Louis buys a tablet. How much change will he get?

Louis buys a tablet and 2 games. The total cost comes to £479.
What was the price of the games?



Maths - Tuesday

Giving change
Group A

Let's go shopp'mgl

IXL Section for Monday

and Tuesday
P8—PI7

You'll need the price list below to he[p you work out the answers.
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Challenges—more money (more) problems...

How Much Did it Cost?

Dan bought a packet of crisps and an ice cream.

Use the dues to work out how
much Dan spent, the cost of the

The cost of both of them together is in one of the boxes below. i cream and the cost of the

c.ri.sps

£1.85| 75p |£1.74|£2.25| £1 |£1.56
£2.10| 80p |£1.80|£3.06|£1.44|£1.50

£1.60(£1.25(£1.20| 90p [£1.45|£1.27

Use these clues to find out how much he paid:

1. You need more than three coins to make this amount.

2. There would be change when using the most valuable coin to buy them.
3. The crisps cost more than 50p.

4. You could pay without using any copper coins.

5. The ice cream costs exactly twice as much as the crisps.

Plenty of Pens

Amy went into her local stationery shop. Her mum had given her £2.50 to spend.

Amy liked the look of some luminous pens, which cost 15p each, and some fancy
pencils, which cost 10p each.

She bought four times as many pens as pencils and was given 40p change.

How many of each did she buy?



Maths - Wednesday IXL Section for today is
Welcome back to fractions

Group A

WI-W Ik

A fraction is any part of a group, number or whole.
One circle has been cut in half. ‘ '
called the numerator. of parts we have.
A

A half is a fraction.
We write one half as
The bottom number is It is the total number of parts
called the denominator. the whole is divided into.

The top number is 1 It is the number
| E

Task |
What fraction of each shape has been shaded?

a b

Answer the following questions about the shapes above:

a What part of a is unshaded? — b What fraction of e is unshaded? ——
¢ Inf, is more of the shape shaded d What fraction of b is unshaded? ——
or unshaded?

e Look at shape h. What can you say about the amount of shaded and unshaded parts?




Task 2

Shade the given fraction for each shape:

a 8 b 17 ¢ 12 d 12
18 20 30 16
Task 3

Are these statements true or false?

a ' b

% is shaded % is shaded % is shaded % is shaded

( ) ) ) )

Task L
Colour the shapes to show:
a b c
one third one quarter two thirds

..............................................................................................................................................................

Now find another way to colour the shapes to show the same fraction:

a b o

one third one quarter two thirds



Maths - Thursday
Finding equivalent fractions

IXL Section for today is

Section X
Group A
Task |
1
1 i 1
2 i 2
1 i 1 : 1
3 ' 3 : 3
1 : 1 : 1 : 1
4 i 4 i 4 : 4
1 i 1 5 1 5 1 i 1
5 i 5 i 5 i 5 | 5
1 i 1 i 1 : 1 : 1 i 1
6 : 6 i 6 : 6 i 6 i 6
iy 2+ 1 - 1+ 1 ¢ 1 + 1 & 1
8 i 8 i 8 | 8 i 8 i 8 ] 8 i 8
i i 1 i 1 i 1 § 1 § 1 1 | 1 1 1 1 1
0 ¢+ 10 + 10 { 10 ¢+ 10 ¢ 10 ¢ 10 + 10 ¢ 10 ¢ 10
1l 1 1 1 ¢ 1 ¢+ 1 ¢+ 1 ¢+ 1 ¢ 1 3+ 1 3+ 1 + 1
12 v 12 + 12 + 12 v 12 v 12 ¢+ 12 4+ 12 v 12 v 12 + 12 | 12
Use the strips above to help you answer the following questions. Circle the correct answers:
3 4 2 2 2 3
a Which is bigger? 2 o g b Which is smaller? 0 ° &§ ¢ Which is smaller? 2 T
Use the fraction strips to:
a Find 3 fractions that are b Find 2 fractions that are ¢ Find the fraction that is greater

1 1 2 3
the same as 5 the same as 3 than 3 but less than a




Task 2

1. Shade % of this rectangle. Shade ; of this rectangle, making the

same pattern.

This shows that % and % are equivalent.

2. Shade : of this rectangle. Shade : of this rectangle.
This shows that and are equ.'tvalent.
3. Shade 1‘; of this rectangle. Shade : of this rectangle.
This shows that and are equ,'tvalent.

Task 3

Shade and label these models to show equivalent fractions:




Challenge

9a. Crystal says,

"-"@’ | think that % is

equivalent in% .

F N

Is she correct? Explain why.

8b. ~

| have to find equivalent
& fractions for the fractions

on my number line, but

each one has to have a
Howie different denominator.

S/

0- » 1
T

Solve Howie's problem by finding
equivalent fractions.




Maths - Friday
Comparing fractions
Group A

Task | — write the correct < >

cajw

cal~

IXL Section for today is
Section W 19 OR

visit Fractonio’s Pizzaria on Purple Mash

= symbol between the two fractions.

8.

calun

co|=

10.

o

B - &

~ljwn

s

1
10

Task 2—write the fractions of the shaded sections in the boxes and use these to help you
> = symbol between the two fractions

write the correct <

| |
L[] LLLLLLTT
0 g ] 0
L] L] L] L]
N [ I
(LTI [[LTT]
0 0 0 3
L] L] L] ]




Task 3—shade in the correct sections for each fraction and write the correct <
> = symbol between the two fractions.

' A

) e U
s | = || = _
&4 5 4 8

y U+ )3 U
2 8 3 4

e 25 Us
5 2 3 8

Challenge! We can't use pictures for this one. But we can use our times table

acts...
j: Use the symbols <, = or > to complete the following:

3 12 2 s
5 1 & 15
2 & 2 1a
3 4 T 21

-
e
Lo g




